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the Box provided alungmde. DO NOT write anything else on
the Test Booklet,

English. Each item co & four responses (answers). You will select the response which you
want to mark on the An Sheet. In case you feel that there is more than one correct response,
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item.

You have to mark q.'l] _wur r:apom QNLY on. th.t upm A.ng.wer Sheet provided.
See directions in mqmm
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at question.
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1. Genetic screening is Which among, the States given above
are the largest and smallest respectively I
- faj analysis of DNA to check the lin terms of geographical area)? -
= presence of a particular gene in a
; person fa) 3 and 4 o e R
|!".':-,|‘I analysis of gene in a population B} 3 and 2
fe) pedigree analysis fel 1 and 4
- f *
fd) screening of infertility in parents fd} 2 and 5
2. Which of the following are the major 4. Who among the following is considered
factors responsible for the monsoon as the Inmer ul’ genetic engin.eermg?
type of climate in India?
Phdlp Dnnker
1. Location " s g ()
' 2. Thermalcontfast  —  — —  (b) Paul Berg

3. fei  Thomas Adﬂimn
4,

fd) Alpheus S, Packard Jr,
Select the co I

.. = il Ty

fa} 1 and 4 op aterial of progeny?
ib
fcl
{d)
answer using the code
3. Consider the following Indian States : given bﬂlﬂ‘w '
1. Chhattisgarh fa) 2 only", e
2. Telangana
e B} 1,2 and 3
3. Andhra Pradesh
4. Uttarakhand L
5. Tamil Nada . fdl 1 and 3.only .
B-ABVB-0-JMO/ 1A 2 g
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1. Hrgfiee sy (s whifm)

fa) Tiedt oy 4 uw fafie oR ) ofify
#! =\ % forg DNA w1 fasdm &

b T wofe § o = g b
fo} o vl &

jd) wn-fam o = g (i) b

2. wiE & HiE wen ) sy & o At
% & F9-3 7= 2w e i

?al
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dE e A @ FR-d wm g s
wrgem § (il % smam w)?

fa) 33ima
b 3amz2
e 134
fd) 23S

4 v ¥ frd argEi ShfEh W owEE o

e &

fa) Tl i

ﬁﬁm%muﬂnmqﬂmgﬁm
fa) W= 2

By 1,1'#“

fe) 1,334

fd) w1

[P.T. O
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6. Match List-T with List-Il and select the 9. Match List-] with List-Il and select the
correct answer using the code given cofféct answer using the code given
below the Lists : below the Lists :

List-I List-Il List-I List-II
{Plant} {Natural vegetation type) {Geological time seale) (Life-form)
A. Ebony 1. Mpoist deciducus A 1
. Pleistocene . Mammals
B. Shisham 2. Himalayan moist
C. Walnut 3. Alpine B. Paleocene 2. Human genus
D. Birch 4. Tropical evergreen C. Permian 3. Invertebrates
Code : ;
D. Cambrian 4. Frogs
fal A B c D
4 1 2 3 Code :
b A B C D
4 2 1 3 e B & B
el A B C D = - S
3 2 1 A C D
{d) A B 2 1 3
L A D

T. Cobalt is a 3 2
fa) growth ho
fb) vitamin E }[L
fo) hemogle caused by
fd} intesti ;

B. Absorption of
can b
1.

2
3.
4. pancreatic duct 11. Meutrophils and lymphocytes originate
Select the correct answer using the code from
given below, : fa) Xidney tubule
fa) 1,2 and 3
f&) 1 and 3 only (b}
fe] 2 and 4 fe] bone marrow
fd) 3 only fdl Iymph node
B-ABVE-O-JMO /1A 4 i
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6. -l W gA-u F wm g Hifw i 9, §Hi-l ® FH-1 F ww gafm Fifem sl
qfedl % 93 fro g W oW ow o I g & 4 foy g W owim = o
T fm

-1 Hefi-11

(wrm)  (omEfaew sty & men) -1 -1
A, W 1. T i (spmvita wwa wTawe) (#ra-w9)
B'ﬂ 2. fomerd s A R 1. wEE
i e S B.. e 2. WR
w2 C. o 3. i
@A B C D D. ¥Em 4. TEE

4 1 2 3 :
M A B C D ol

4 2 1 3 N _ @ A B C D
fl A B C N = ==2 1 4 3

3 41 W A B C D

A B C 2 4 1 3

% 1 A A B C D

7. ez wiftn & *
fa) Tiew FEHE B '
m) Fafm By,
fe  ErimEfEE A
fed) T TETE A

8. TE v & HEw
1. g% & g =
3 1 TedmE
3, ;Ehﬁ @ F
. ST E|
. e 11, gEiee v fersmes) & = # d
r fan m e W wEm R A I g b < 2
fa) 1,233 @

b a1 a3 b ffha
o 234 fo) el wan @
jd) w3 jd) =

B-ABVB-O-JMO/ 1A 8 |P.T. O
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List-Il and select the

correct answer using the code given

below the Lists .
List-J

Mediterranean 1.

Marine west
coast

‘_4.|df

1 E
13. Match List-| ﬂn

Lise-II
(Characteristic)
Temperature cycle is
moderated by marine

influence

Warm summers and
cold winters with
three months below
freezing., Very large
annual temperature
range

Strong temperature
cycle with large
annual range. Warm
summers to hot and

mod e.ra.t: with warm
hot summers and

Code :

fag A B C D
2 3 1 4

WA B C D
2 1 3 4
A B C D
4 1 3 2

{4 A B C D
4 3 1 2

14, The mandate of the scheme entitled
‘Directly Observed Treatment, Short-
Course (DOTS)' launched by WHO is to
ensure that

fal doctors  treat  patients
=== medicine for a short duration

fb}

with

doctors do not start treatment

without a trial

- T4

A '..' fc) _patients complete their course of
L3 ] - - il

1 I,

&/

below the Lists
List—{ List-0I
{Weathering type] (Landfarm,’
Process)
A, Chemical weathering 1. Till
B. Mechanical weathering 2. Oxidation
C. Glacial deposits 3. Plant roots
D. Deposition by ground- 4. Stalactite
water

B-ABVB-O-JMO/1A

b} It is too shallow for ships to cross

fe} Shipping is prohibited through
the Strait due to its religious
significance connected with the
epic Ramayana

{d) The around Sri Lanka route is

actually shorter than crossing
through the Palk Strait
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12. g9 # g ¥ aw gakm ditm o w2
;f;i%ﬁﬂwmgmewuﬂm TEEER
: 2 3 1 4
et eI m A B C D
(we=mg) (Pergrara) 2 1 3 4
A smerEElE 1w s i e s l A B C D
T wm d 4 1 3 2
B, wpf ofieft 2. s e sgpd oie ol iR (@ A B C D
™ il & 9 22w et 4 3 1 2

i =l s TftE

14, WHO 7m st 41 n§ ‘sl sfensd iz,

|I AR T wH-w4 (DOTS) % whm = wfew,
. C. ywma 3. T, aiS 90 F Wy e Ffoafim § & v gifim v S Rm 47
HET M = | s s we @
o e gt e o et fa) TafEmes sl & o il R =
i D. ¥ 4. T T o
' s sl r (b Ffew s e f T o
ke e = == - =
s it Wl T F weww (FE) #o@
fal A
2 :
b} A
3 § & wif 9 @, A
g o ow o oW &
4 Fu e g & w7
A | e fy B s
13. g1 #t g ke
A
-1 eI N |
(swwawew)  (q-smEh/ufm) N e Bl i mm* |
A, TR e 1, v gfi () E;ﬂ e |
B. 7if¥F sy 2. I @) e ] A |
C. femdm fd 3. wEn g bedsamaiinig: G O |
TEE: U WAETENA U B 9 A
D. v g fRiem 9. W oF # e g b |
|
B-ABVE-O-JMO/ 1A T IR T O |
|
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16. Penicillin inhibits synthesis of bacterial 19, Match List-] with List-ll and select the
correct answer using the code given
fo) cell wall below the Lists :
(B} tein
ik List-I List-IT
fel EMNA (Regqarn) {State)
(d) DNA A. Baghelkhand 1. West Bengal
B. Euttanad 2. Madhya Pradesh
17. Which of the following State capitals of ¥ Trdea
North-East India is/are connected by C. Saurashtra 2. Kerala
Indian Railways? D. Rarh 4. Gujarat
1. Imphal
2. Agartala Code :
3. HKohima fa) A B C (5]
4, Alzawl 2 3 4 1
) A B € D
2 4 3 1
fl A B € D
1 3 4 2
() 2 and 4
A B C D

fed 1,3 and 43
fdl 2 anly
cement are cormect?

2. increases  the

3.

X ; nulhate decreases the

* mnml setting time of cement.

Select the correct answer using the code Select the correct answer using the code

given below. given below,

fal 1,2 and 3 faj 2 and 4 only

& 1 and 4 B 1 and 3

fc) 2 and 3 only fef 1,2 and 4

fd] | and 2 only fdi 1 and 2 only
B-ABVB-O-JMO/1A B
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16. ififufem & e swem Frifim w7 19, g6 ® g1 ¥ wa gifem fifi siw
o) i W ™
fe) T RNA -1 B L
jd) SETEEE DNA () e (¥)
: A. ey 1. ofim W@
17. - v & vl 6 Frfafm vk § ' B. 3w . warn
R /d i m Ay & 2 ‘Wi
1. @ ' ;
2. YW D.m| 4. TR
3, wiwm
4w b
fa)

| # frefofian 3 8 #R-2

1

At wErE w= R

i 71 e R

6 AR e A e
3. i =.'.:.::i'-.'=| SHRE L . _ .. T
4, wEIREm e " T e R i
¥ fim gz W owEm = W e gR ovdt fr M w2 W WM = wd T gR
fa) 1,2%n3 fa) F=w 2 # 4
(b) 134 ! b 133
(c) ¥wm 233 e 1,294
) #aa 1w g {d) F=a 1 #n 2

B-ABVE-O-JMO/ 1A 9 ) [P T. Q.
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21. Match List-I with List-Il and select the Code :
correct answer using the code g:hr:u
below the Lists ; fal A B C D
List- List-If 2 4 1 13
(City) (Earthquake zone) ® A B C D
A Kalkata 1. Zone V 2 1 Fl 3
B. Guwahati 2. Zone IV
€. Delhi 3. Zone Il g A B C D
D. Chennai 4. Zomell @ 1 4 2
Code : fdl A B € D
fad A B € D 3 4 1 2
3 2 1 4
(b} ; EI' ,f f 24, Match List-l with List-Il and selsct the
K B correct answer using the code given
fe} C D below the Lists :
4 1 2 3
@ A B € D List-I List-If
4 2 1 FJ|ES {Exponent) {Law)

due to the fact
fa) it shows phe
fb) at ordinary tem

reactive tha

Phﬂl. 0T 'r'l-

o wE s T
(Lake]

A, Ashtamudi Kayal 1. Residual (sweet f(y A B C D
water] 2 4 3 1
B. Himayat Sagar 2. Lagoon A B € D
C. Dal Lake 3. Glacial 1 4 3 2

D. Tso . ifici
mgo Lake 4 mmal {sweet @ A B ¢ D
1 3 4 2

B-ABVBE-O-JMO/1A 10

hLE :The Information Provided here is aonly for Reference.It mav varv the ;::gina;J
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21, T W i F g gt Fifm e e
] EolCinkc ol e :
ﬁ_ P fag A B C D
'w_ it 2 4 1 3
1
(7m) (o #T) M; ? f g
A, FrerEE 1. AV
B. TEEE 2. FRIV fg A B C D
c. i 3. FRIN 3 1 4 2
D. Wwf 4. #A 1 @ A B C D
L o 3 4 1 2
@ A B © D
a 1 4 24, T F ghn ¥ ww gl fife e
ff A B € D fet & 9 fan g2 = owEm = oad I
i 1 2 4 g
ft A B C D = - "
4 1 2 : =
i A B C .
4 2 1
22 1. - s e
TaEm g ¥ W =1 frm
(a). T T o
TRm w3 W P
fe) T A i T =7 Famm
i) j wam w1
23. g1 ® wl-u 3 A
e AR RO : 1
g :
w1 -1 ) A B g. ':
() () 29
A weEgd@ wme 1 e (die o) fef A~ B C D )
B. fmma 5rm 2. o 1 4 3 2
C. == o 3. T
D wwEtdEm 4. FEW (6E T e : 2 2
B-ABVB-O-JMO/1A 11 |P.T.O.
l‘l:l_l:.e__:_fhe
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25. March List-1 with List-1l and select the Code :
coffect anawer using the code given fal A BE C D
below the Lists : 1 4 2 a
st st oy 2 g}
{Farming areal State)
¢ fe) A B c D
A, Doab 1. Assam 3 4 2 1
jdj A B C D
B. Char 2. Kamataka 3 2 4 1
C. Maidan 3. Punjab 28. Which one of the following statements is
not correct?
D. Terai 4. Uttar Pradesh

fa) Water starts boiling when its
vapour pressure becomes equal to

Code : atmospheric pressure.
fal A B C D : i
S 2 {b) Water is known as universal
2 2 :: 4 ) solvent.
(b 3 i a 13 : = fej Permanent hardness of water is
A B : due to presence of MgCl,, CaCly,
fe) £ MgS0, and CaSO,.
@ A B {d] Density of ice is greater than that of
4 2 :
; o 29 Which gne ot the-follswing is the pattern
26. Which of the following Rl & culati --- nlnwpreuure

pollutant? | e ETER hern hemisphere?

au Wlux;hontufthe following is not true for
diemond?
fa) Each carbon atom is linked to four
A, Kalinganagar 1. West Bengal other carbon atoms
. B. Vi - {bj Three-dimensional network struc-
NEAnage: 1. el Nudu ture of carbon atoms is formed
C. Salem 3. Odisha fef It is used as an abrasive for
sharpening hard tools
D. Durgapur 4. Hamataka
ke fdf It can be used as a lubricant
B-ABVB-O-IMO /1A 12

r the original
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25 gi ® g1 ¥ ww gifm fifm ok 5
| gfirdt % 41 fig g W v I @k E O
T 1 4 2 3
-1 w0 ol A B C D
| (wfe @) (wrem) 1 2 4 3-
. fel A B C D
A Fsma 1. WM 3 4 T 1
B Wm® 2. wAles fdg A B C D
C. #=m 3. TEE T .
D, A e 28. P ol § 3 ¥R-7 1% 6 T 47 '
fa) ¥4 ¥ ¥ AG-TM AEESAE T H
L A W W R, 79 we W e 0w |
fal A B C D ﬁmﬁ]
a3 2 1 4
Ba B € D (b} E wiEE e % & s
3 1 2 4 .  fe) WA § vl WERM MgCly, CaCly,
A B C D= 2 Mgs0, ¥ caso, # TR F
4 1 2 .4 - A R
[ A B C fd) =5 w1 T wE % T A afew g
4 2 1
26. Feicfen i 3 wa-20, rsferfem W % e
fa) mim t i \ w1 e &1
| fb.’ll _.....__ o - 3 m 41
i fo) EREMETE
{d) ¥
! " q;;i -:-'.”3 € - w e
@;“ -1l wam s | wEem e
Al ) (o) fb) e wEmE i f-fw am (=)
A, sl 1. wiEm =T HO o b
B. fammm 2. aftrerTg fol T TwET wEn shent § um @ E
C. #m 3. sifsm fom s % w0 | fem A 2
- ' fd) R I ovhes & own & e ow
. 3y % e o B
B-ABVB-O-JMO/1A |13 [P.T. 0.
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31. Which one of the following statements
about the atmosphere is correct?

fal The atmosphere has definite upper

34. A body is falling freely under the action of
gravity alone in vacuum. Which one of
the following remains constant during
the fll?

limits but gradually thins untl it

becomes imperceptible.
o e} Potential energy

fb} The atmosphere has no definite
upper limits but gradually thins -
until it becomes imperceptible. s e

fe) The atmosphere has definite upper
limits but gradually thickens until
it becomes imperceptible,

fc) Total linear momentum

{d} Total mechanical energy

fdl The atmosphere has no definite
upper limits but gradually thickens
until it becomes imperceptible,

35, X-rays are

|"n.|| deflected by an electric field but not
by a magnetic field

{b) deflected by a magnetic field but
net by an electric field

33. Which one an electric field or
fa)
Aollowing minerals
(B} both slow and
sudden that they pass for a short Mica
period of time, )
fel The forces may be sudden and so b} Quarts
fast that they pass unnoticed for a
long period of time. fe)  Olivine
fd} The forces may be slow but for a
short period of time. {d} Pyroxene

B-ABVE-O-JMO/1A 14
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L

31. wgeea & oo § Feffa = @ @ SR 34, w 7y e TeE-fien & o frefa ® g

e 42 w9 8 PR ol b1 P @ % 2w
(a) TR 1 Fifln T Wt A & wig firet 3 v, o = v/t et 47
g «fit-oift frr drm o & W oo '
e s (vedfRem) 7 8 (@) R =i
) wrprEE  wd ffim s ded (b) R =
wiefl wig 7w oft-offt i d e ¥ = .
o5 5 78 s 7 @ Wy fe) T TEm wEm
(o =rEEE $ ffim = def i § vy R e
TR «it-4i v fm k9 o T
ST 7 E W |
(d) =vpiEm @ owr fidm I dod T8 as. x-feml
ol v 7 dR-dR o e b e _
iR - (o) P AW o fafe a8 v e

———— T
(b TR & 3w el wbd ¥ vy

1 &% 2 3w A .
e g s o
m B
W g fefem
T Y T Wi w1 T
) ETE
b wE UE o s S W R wee d
s 3 e o T R (b F=EA
fc) @ wwfEE TR R TR EH Y
R WO T SR T Sl
(d) ¥ R T A9 T % o d wn (d) RO

E-ABVB-O-JMO /1A 15 |P.T.O.
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Lay
37. The focal length of the lens of a normal 40. Newton's laws of motion do not hold good
human eye is about for objects
L rest
fa) 25 em A
fB) moving slowly
Bl 1 m fc) moving with high velocity
fd} moving with velocity comparable to
fe} 25 mm velocity of light
fd) 25 cm 41. Which of the following elements are

found in highest and lowest quantities

) respectively in the crust of the earth?
38. Which one of the following statements

is correct? (Y. Pty abd S
fbj Calcium and sodium
{al Cold fronts move at slower rate fel  Sodium and magnesium
than warm fronts and therefore -

cannot overtake the warm fronts. = (d) Oxygen and magnesium

~ 42, Which one of the following statements is

el : _ not correct?

'fn:qu,gnﬂj ke fﬂ} Wcight of a tl:li}" is different on
- different planets.

B}

ic) ‘empty space is the

i M= : ; ational forces acting

quantities s the-same = di- vertically from an

all gases at a given tempera.mre? a.{rcrﬂt fl;.'-J.ng 'cwu kilometres above the
earth. The brick will fall with a
fa) Speed fm) constant speed
) b} constant velocity
fel constant acceleration
fef Kinﬂux: Energy fd)  constant speed for some time then
with constant acceleration as it
{d} Momentum nears the earth

B-ABVE-O-JMO/1A 16
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a7. Tl om mm wim ¥ 9w A wEw ot 40. =73 & T ¥ Fam = s ¥ o oww Al

T et Al &7 i
f@ 25em fa) Fawm A A
(b) W W R A
Ak o) T= M AN AR E
o fd) FEEFmMEFFTEmAR =R
@ asem a1, Feffn o A @ P-4 A & w
HAikERTn w0 e wn d o T §e
ag, Frefinfir wust 4 @ 9= o = B @) it o Rftrt
t fo) e, ToEEm E Al w9 v A by ¥ i wfem
: =em o swfen swEmm @ sm ol c) et i helfim
P w1 z () stwdron s Buffm
(b) iy w6 — s
nfa A = § 2 42, F=fafay w1 8 § F9-7 0% G T 87

# it ;a}ﬁiﬂ'ﬂﬁ!'ﬂ.ﬂﬂm-ﬁﬂ!ﬂfﬂ

jo)  EEEEE ST O
1 e e
fcd) m._ ' A fifa, mw
| [ wfeegien R W
T | \
11
! - TR ofl i
39, T=fafEn i R
ﬁqmmﬁmﬂ
—y : w35 1 el g R
ﬁﬁmht*hﬁmtlh
fa) W@ fa) R e @ i
fb) FEEE (b TEr A
PR — fc) T v & T
(dl FF W e fEw am @ i el e
fdy wEm gt % g o w fim @ i
B-ABVB-0O-JMO/1A 17 [P.T.O.
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44. This item consists of two statements, 46. A Bill is deemed to be a "Money Bill' if it
Statement 1 and Statement II, has any provisions dealing with
Statement 1 : .  imposition, abolition, remission,

The Kuroshio is a warm north-flowing alteration or regulation of any tax
orean current on the west side of the e
Nl el D 2, appropriation of money from the

Consolidated Fund of India

3. imposition of fines or other
pecuniary penalties

Statement I :

Presence of a number of volcanoes at
the bottom eof the Sea of Japan is

responsible for the Kuroshio becoming 4. payment of fee for licences or fee for
WAL, service rendered
Examine these two statements carefully Select the correct answer using the code
and select the answer to the item using given below.
the code given below. P
2 on
Code IF
(a) Both the statements are P/ L 3and4
individually Wﬁnmnmtﬁ :
is  the m_._ of - 1 12 end 3
Statement [5===5

fdl 2 only
k) Both - statements are

e but Statement Il

fef

fd)

45, The outsid - g fom Doab region to
automobiles : aid_directly to the State.
“objects in mirros tlos Cthey - 2] b -
appear”, Such m prg Which of the statements given above

igfare correct?
fa} plane mirrors
(B} concave mirrors with very large B L
focal lengths B 2 only
fcl concave mirrors with very small
focal Jengths fe) Both 1 and 2
{d} convex mirrors (d) Neither 1 nor 2

B-ABVE-O-JMO/ 1A 18
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{
44, @ wEm 4 9w ¥, w19 A 46. = Fis v Bl o oS, -
o 1 s THF F§ TEY
‘ 1. fimh & % wfidom, s, i,
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178 T o B @ A w78
fa) wEE i €A § (@ ¥
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(d) ¥ =00 #E R fd) A1 AT
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48. Which one of the following is mot a part of 50. Match List-] with List-Il and select the
service sector in India? correct answer using the code given
below the Lists :
fa) Transport List- List-If
{Term) {Meaning)
b Construction A, Mihrab 1. Stepped pulpit
- B. Mimbar 2. Direction towards the
fc) Hotels and restaurants Kaba for prayer
C. HKhutba 3. Arch
fd] Insurance D. Kibla 4. Sermon
Code :
49. Which of the following isfare not fag A B ¢ D
central feature(s] of Article 343 of the 2 1 4 3
Constitution of India? B A B c o
1. Hindiin 'd__r ' E=—=- = 2 4 1 3
the ﬂthﬂ!ﬂl%ﬂ‘ﬂui&ﬂnﬂ fef A B € D
3 1 4 2
2. The offi f
e official age of the Union A B c D

shall be H F uwamgmsmpt e 4

- |

" & s ~id orll:l Trade Organization
52. After the general elections, the Pro tem
fa) 1,3 and 4 Speaker is
fa) elected by the Lok Sabha
{8} 2 and 4 only (b} appointed by the President of India
fe} appointed by the Chief Justice of
fej 2, 3 and 4 the Supreme Court
fd] the senior most member of the
fd} 2 enly Lok Sabha
B-ABVB-O-IMO/J1A 20
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48, F=fefim 4 4 FF-m o, wim § ¥ &5 50. g1 w gEu % am gk Fifa sl
F T T TE A7 gt & 4= iy om = W om\m = e
T :
(o ftEEs -1 -1
i (=) (3vd)
o | A dEm 1 dee e
& e vt B. fimm 2. ?ﬂtﬁ?ﬂqwﬂ
@ C. e 3. d

wEFTY

) v % gy g Py fen v @

fe) 2, 3%m4 (¢ TR e & g g few
fon = B
(d) F=E 2 () T e e ae
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53. Match List-] with List-1l and select the

correct answer using the code given
below the Lists -

List-T List-IT
{Person} {Work)
A, Uddanda 1. Sudhanidhi
B. Sayana 2. Mallikamanita
C. Yadavaprakasa 3. Malatimedhava
D. Bhavabhud 4.  Vajayani
Code :
fa) A B C
2 1 4
b A B C
3 4 1
fe] A B C
2 4 1,
fdl A B c
3 1 4

55. Match List-I with List-1] and select the
© correct answer using the code given

below the Lists :
List-] List-I
(Leacder) {Peirty)
A. Shyama Prasad 1. Communist Party of
Mukherjee India
B. Minoo Masani 2, Bharatiya Jana
Sangh
C. 5. A, Dange 3. Swatantra Party
D. Ashok Mehta 4. Praja Socialist Party
Code :
faq A B C D
2 3 1 4
B A B € D
& 1 3 2
g A B C D
2 1 3 4
d A B € D
4 3 1 2

56. The RI'ME was written in

& Industrial v:luatcru are visible in
traditional handloom, handicrafts
and modern SME

fe)  Industrial cluster programmes in
India are administersd by various

ministries
jd} Industrial clusters  lead to
promotion of monopoly in  the
market
#
B-ABVE-O-JMO/ 1A

FeBOUrCes
2. industrial processes and activities
3. product use and disposal
Select the correct answer using the code
given below.
fa) 1 only
iB] 2 and 3 only
fc) 1 and 2 only
fd] 1,2 and 3

r for Beference.It may wvary the original.
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A % i e ™o = owEm = owd I il % W B m g o = T
i ™ T
Ii w1 -1 -1 -1
i (=) (=) (7am) ()
j A T 1. gty A v gl 1w st T
B. @Em 2. mlgwmwa B. i wEE 2. vIHE 1 "
C, aEuET 3. wrERfTE C. THe Us A 3. =0 T
D. wayf 4. At D. i g 4.y wmfee o
; = i
TEEE HrE @]
3 A B C D
b) 4 1 3 2
A B € D
2 1 3 4
fe) A B € D
4 3 1 2

weatdes o sngfes SME & geme ¥ :
# fem T =
(@ v § e wE e Mh:?““ et
L S e e jb) et 2 o3
(d) i TR 4 aem § TEfiea W fe) e 1 w2
LECER Gl fd) 1,233
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58. Which of the following is/are not central
tenet(s) of the Constitution of India?

1. Prohibits discrimination on
grounds of religion

2. Gives official status to certain

. religions

3. Provides freedom to profess any
religion

4. Ensures equality of all eitizens
within religious communities

Select the correct answer using the code

given below.

ja 1,2 and 3

fb} 3 and 4 only

fc)

T
60. Private investment in"ln
is mostly en-labour-satfing 4
tion. This could be a response to

fa) rising proeductivity of agricultural
sccior

fb) rising inequality in agriculture

fe} rising wages and tighter labour
market

(d} debt write-off by the Government

B-ABVE-O-IMO/ 1A
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61. Which of the following facts are related to
Burma [Myanmar)?

1. It shares its borders with India,
China, Bangladesh and Vietnam.

2, It is ruled by a military government.

3. The National League for Democracy
was not allowed to contest the
elections held in the vear 2010,

4. Myanmar iz a member of ASEAN.

Select the correct answer using the code
given below,

fal 1and 3
) 2,3and 4
(e} 1,2 and 4

fd) 1 and 2 only

63. Which one of the following is the major
spurce of gross tax revenue (GTR) for
the Government of India?

@l lncome tax
B Corporation tax
fc) Customs duty

fd] Service tax

1
Mote The Ioformation Provided here is gnly for Beference.lt mav wvarvy the original
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58, Frffan # & Swe-m/a, wm § ERwE 61. Frfofign i @ W@ am wd (s @

/% HEra Tagia ot 247 wafem B7

1, we % oaym m R o afie s 1.l v, o, arerdn o e d
B wgh wamd §

2, T8 whm ol = vk wfm i o 2. uE = wEn TR R

3. W Fl ol wi W oweR A e G 3. = 2010 # 7o 9§ Y En oW
& i B T T R R A

4. 7R Wi wgEE & ofim o i 8 T i
Ay giifes wm &) 4. TR wfE (ASEAN) %1 e B

H4 fog ™ gz 0 v R e I g 4 i T g2 W i o T P

fa) 1,233 jap 133

fb) T 3 ¥ 4 . b 2,34

f9 2,334 =— 523;%‘5522 ) 1,2 3

(d) ¥ 2 _a

jd) = 1 oafm 2

63. i 3 4 #-m T, W W E
¥ T (GTR) 71 g oW 37

fm) ST
b FH 8w v e
fb) Trm-w
(e} weh w gagfEl o sdaEn wEmoam
L1 fe) H-FH
fd) ETER T WO R W a # e fd) FEn-
B-ABVB-O-IMO/ 1A 25 [P.T.O.
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64. Which of the following are members 68. Match List-I with List-Il and select the
of BRICS? correct answer using the code given
below the Lists :
fa) Bhutan, Russia, India, China and
8ri Lanka - List-I List-IT
{b) Brazil, Russia, India, China and (Author] (Work)
South Africa A. Somadeva 1. Malowkagnimitra
fc} Brazil, Russia, Indonesia, China B. Kalidasa 2. Kathasaritsagara
and Singapore
C. Bhasa 3. Chaurapanchasika
jd} Bangladesh, Republic of Korea,
Indonesia, Canada and Sri Lanka D. Bilhana 4, Svapnavasavadatia
i 65. After the death of Shivaji, there was a : :
i fight for succession between fal A B C |1}
fa) Shambhaji and the 3 & % &
an ; =
= ) A B C D
b Shambhaji 3 3 4 1 2
_ fe/] A B cC D
fe) Rajaram and 2 4 1 3
B C (1)

id) ¥ land price of adjacent
plutl dw: tu construction of & road
67. The Panchsheel Agreement’ for peaceful by the Government
coexistence was signed hetween

T0. ‘Rio + 20 is the short name for
fa) India and Bhutan fa} Millennium Development Goals

(b} India and Nepal {b) United Nations Conference on
Sustainable Development

fe) Earth Summit
fd) India and Pakistan fd) Post-2015 Development Agenda

fe) India and China .

: B-ABVB-0O-IMO/1A 26
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64. F=fafias § 4 9 BRICS # wem §7 68. TH-1 F W1 F ww ghem B o
fa) EF, ¥, ST, S ot shve gltﬁﬁqﬂﬁﬂmmﬂrm
(b) wlta, T, awm, <9 ohe efim i
: -1 At
(o) wwite, =R, $EEm, 9 o feg e ok
fe} =T, i wrre, =R, ==
e A, #mEa 1. sl
B. FiEm 2. FuTHIEET
65. fimmi #1 yry % vaw, soviien & fm vl @ = 3. whafiE
i ot g wd7 D. farm 4. FEEETET
fa) Tl s e ) faam —_
(o) T i AT f@ A B C D
. g my __ = ___' 2 1 E 3
R eSS 8 ¢ b
fdf T @ = g 3 4 1 2
A B C D
bf 2 4 1 3
66. Fifofn # @ F-m W
¥ Is e
@ = T, AT w2
{b) i :
g AR
fe) e
fd) = 4

AT T Y

S RIS TR ;

67. el w-sfem % fow ‘vwim oW

fififinn % 2 f% e wnaf gan o7 vt i v 4 7

fei) maﬂ'm[an' 70. Tt + 20" FFo o wfim Tm 2
(b) T e e weeR

o PR ¢ e——

(d) WA s aiEEE d) 2015 % =% % fawm f) sk
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T1. Patanjali was
fa) a philosopher of the “Yogachara'

school
fb) the author of a book on Ayurveda

fe) a philesopher of the Madhyamika'
schoal

fd] the author of a commentary on
Panini's Sanskrit grammar

T2. Which of the bllowing statements in
the context of income-environment
relationship is/are correct?

1. Pollution trends tend to follow
an inverse-U shaped relationship
across different stages of economic

T4. Match List-I with List-1l and select the
correct answer using the code given

below the Lists :
List-1 List-IF
{King] (Region}
A. Shashanka 1. Assam
B. Kharavela 2. Maharashtra
C. Simuka 3. Orissa
[+, Bhaskara Varman 4. Bengal

member of MERCOSUR (Southern
Common Market)?

{a} Argentina
{b) Paraguay
(e}  Uruguay
fdj Chile

B-ABVB-O-JMO/1A

fb) Tax rate increases as income

{c} Tax rate decreases as income

{d] Each household pays equal
amount of tax

IThe Informaticon Provided here i=s only for Referepce.It mav varv the original.
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74. T F G- F oww ogafm A ok

gl % M fig o3z | owm = oo
gqfm
Tt -1
() (#)
A TR 1. =mm
B. @HEd 2. WEWTE
c. fags 3. TEm
D, W @ 4, FmaA
Lt
I w

(=fift mmen =mm) = T A AT
fa) wEHT

b) T

fe) T

(@) Toeh
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76. The Constitution of India guarantees

T77. In ancient India, the 'Yaudh:?’_n_g‘ WeTE

freedom of thought and expression to all
its citizens subject to

1. implementation of
Principles

2. Fundamental Duties

3. Right to Equality

Select the correct answer using the code

given below.

fal 1 and 2 only
|

) 2 and 3 only
fef 1 only
fd) 1,2 and 3

Directive

faj @ sect of the Buddhism hism

fa) The State is the preeminent actor

fb) State sovereignty is important
authority over territory

fel The primary objective of all States
is survival

fd] Survival can be assured in
cooperation  with  international
organizations

B-ABVB-O-JMO/ 1A
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80. The Dashakumaracharita or Tales of Ten

Princes’ was composed by
{a} Bhatti

(b} Banabhatta

fe/ Bhasa

fd) Dandin

81. What is meant by price discrimination?

faj Increase in price of a commodity
over time

(b A situation where the same product
i3 gold to different consumers for
different prices

e} Subsidization of a product by the
Government to sell it at a lower

price

(d} General decrease in price of a
commodity over time

fa) & huge temple of Vishnu and
Shiva in Java, built in the
12th Century AD

fb) an enormous Stupa in Java, built
in the Bth Century AD

fe} & magnificent palace of a Chola
King in Tamil Nadu

{d] a Jain Monastery in Gujarat

Information Provided here is only for RBeference .1t may wvarv the original.
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e et
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84. What is meant by Public Good? 87. In view of the fact that kerosene is an
faj A commodity produced by the - inferior good in India, what is/are its
Government implicationis)?
{b) A eommodity whose benefits are 1. As households get richer, they
indivisibly spread among the entire consume less Kerosene.
community 2. Owver time there is a decline in

fc) A Government scheme that benefits quality of kerosene.

the poor households 3. Government needs to  stop
{d] Any commodity that is very popular ; subsidies on kerosene.
among general public )
Select the correct answer using the code

B5. Which one of the following statements given below.
about the procesa of the Parliament to \ otk
make new States is mot correct? Eﬂ_} ey
@ The Parliament may by law form a {Bf 1 and 2 enly
new State and alter the boundaries
or names of existing States, fd 2 and 3 only
&) {dl 1,2 and 3

88. Which of the following statements with
regard to citizenship provisions of the

fcl 2 Constitution of India isfare correct?
| o

d) : __‘--_-I . Pt : itz nnl'India by virtue of

86. Which one il I‘hl: citizenship
with regard to ;
1314tu- -‘-_al. as power to make
fal ith respect to the

i ensiy arid all other matters

and indigo fating to citizenship.
fb) Between 1814 and 1860, five Select the correct answer using the code
commodities dominated India's given below.
exports—raw silk, opium, cotion,
indigo and jute, fa) 1 only
fe} Indige and raw silk ' required b} 2 enly

processing technigues.
jd} Indigo and raw silk were financed
by foreign capital, {d} Neither 1 nor 2

fc Both 1 and 2

B-ABVB-O-JMO/1A a2
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fa) 1
(b) ¥ 2
fe) 1 3R 2 3H
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89. The protection against arrest and 91. Which of the fallowing statements about
detention under Article 22 of the the formation of the Indian National
Constitution of India is net available to Congress are true?

1. an enemy alien 1. The Indian National Congress was

formed at a national convention
2. a person detained under a held in Calcutta in December 1885
preventive detention law under the Presidency of Motilal |

3. a foreigner Nehru.
2. The Safety Valve Theory regarding
the formation of the Indian
Select the correct answer using the code National Congress emerged from a
given below. biography of A. 0. Hume written by

' William Wedderburn.

fal 1 and 2 only 3. An early decision was that the

4. an overseas citizen of India

@ 1,3 and 4 P‘i‘t_sidtnt would be [I.'!:I]:I:I. the same
region where the seasion was to be
fel 1,2 and 3 held,

4, W. ¢ Banerjee was the first
President of the Indian National
Congress.

i mng  statements Select the correct answer using the code
ings Plan of 1772 isfare

Howing factors led to
inflation rate in India
|

decline in crude il

Lt ;
=5 glnhal_ pcnl:c-u of
adables such as edible oils and

Er_elect the correct answer using the code 3. Tight monetary policy pursued by

given below. the Reserve Bank of India

fa) 1 and 2 Select the correct answer using the code
given below.

jo) 2 and 4 fo) 1 and 2 only
fe 2 and 3 only

fdl 2 only fd) 1,2 and 3

B-ABVB-O-JMO /1A 34
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89. WA ¥ diaws ¥ wgedz 22 % e e 91, frefafan wedl 3 & =9-8 v mi wiw
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1. =i 7 s 1. wwdE wm e W o e 1885

2. =i =t frd s e fafs % i # e 1 SEE 6w A e §

fowg e T T UE T weer A gan )

3. s frieht 2. WA vt wEE F T F wEn A g

4. B v e Ao wra figin faftam dewd g fofim
o o gm F Tl A v g @y

A fan ™ gz T o = T g 3. s frl o w fosay o
83 & #m w7 st &3 T oA

o L e 2 4. e Ho wll W e i ¥

bl 1, 334 T Mg 4

l fo) 1,233 ﬁﬁﬂ'ﬂﬁﬂ!ﬂﬂﬂﬂﬂﬂﬁﬁ(l

(@ ¥ 34 _ L= == @ 1,23k

4 fan m g2 w o = e e R
fa) 132

4R fam 2 w1 M W wh i
fa) TR |

b 34 by w1 oadn g

fe) 23w 4 fo) TEE 2 a3

jd] FAd 2 fd) 1, 2383
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i Rights is/are avail #6. Which of the -!"' statements about
. 1R yotin le's Satyashodhak Samaj
1. Ii
e v Waharashtra is/are true?
% Hak Samaj was set
3,
[ . : ¥ Brahmins were
1 i, ol .__:.: o i ._.':' ks -_.--:.1  Persor l.lﬂﬂ’ ﬁrj’m
i [ R ) on the Kunbi
S:ll:ctﬂltmriLr: _ 1 g iniry in the 1880s and 1890s
given below. Te@ 1o a privileging of Maratha
identity.
faj 1 only Select the correct answer using the code
given below.
b 1 and 4 only fal 1 and 2 only
) 1,2and 4 i 3:onky
fe/ 1 and 3 only
fdj 2 and3 fd} 1,2 and 3
B-ABVB-O-JMO/ 1A
o b o gt S o Broaided Here is only for Beferepce . It mavy vary the original|
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93. Freedom of conscience under the
Constitution of India is subject to

1.
2,

public order, morality and health

a law providing for social welfare
and reform

opening Hindu religious institutions
of a public character to all Hindus

defamation or incitement to an
offence

Select the correct answer using the code
given below.

fal 1, 2, 3 and 4

b} 1,2 and 3 only

i}

94, Which of the

=

3 and 4 only

95. Which of the following statements
about the formation of the Constituent
Assembly isfare correct?

The members of the Constituent
Assembly were chosen on the basis
of the provincial elections of 1946,
The Constituent Assembly did not
include representatives of the
Princely States.

The  discussions within  the
Conatituent Assembly were not
influenced by opinions expressed
by the public.

In order to create a sense of
collective participation, submissions
were solicited from the public.

Select the correct answer using the code
given below.

- o) 1 only

(]

2 and 3

¢ 3 and 4

a :.I . {d)

and 4
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93, WA % #RwE ¥ adn shewm f =
s sndia B

1.
2.

4.

iR s, wETEn, A mR

=1 fafy, = amferr =am a gue
#i = W B

adatE e A fie wiits W
= ofi fegsit & fom wien =

AR W Ty -2

A fom 2 w1 e W WA I gf

fal 1,2, 33m4

(b) AR L, 233

fe) FEmaanag
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2, af et & o @ wfe wa @
wivafem =8 fiem )

3. i w % siter faam-famd s o
=17 i 7 et @ morfam T d o

4. unfes wafm W owe Tw oI
fom < & g wrh

i fam e W wEm =W oA 3 R
fa) ¥ 1
— (b 233

4 fon ™ F2 W W oA W g
@ ¥@1sw2
fb) Faw 2
fe) FEw 1 afmoa
fd) 1, 2 3F 3
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97. Which of the following laws have been
repealed by the Constitution of India?
1. The Government of India Act, 1935
2. The Indian Independence Act, 1947
3. The Abolition of Privy Council

Jurisdiction Act, 1949
4, The Preventive Detention Act, 1950
Select the correct answer using the code
given below,
fa} 1 and 2 only
(b} 2 and 4 only
fe} 1 and 3
fd) 1,2 and 4

9B. Which of the following statements about
Maulvi Ahmadullah Shah, who played

an important part in the Fevolt of 1B5T,
isfare correct?

2. He foughtin

99. A writ of Ha.b.!ﬂtarpn

a person can be issued

1.. where the arrest or detention has
taken place in contravention of the
procedure established by law

2. to secure the release of a person
imprisoned on a criminal charge

3. where the arrest has taken place
for contempt of Court or the
Parliament

B-ABVB-O-JMO/ 1A

.M'_ h ‘wi:jﬁ: Enn"" di-'i 'ﬂirn: je Aol For B

1. He was papl.ﬂ_nkhmm as Danka
Shah or the Maulvi with a drum.
-.'-"* e famous Battle of

; "r]ﬁ: rc‘l:nuﬁ";

a8

l Wwww.rrbrecruitment.co.in

Select the correct answer using the code
given below,

fal 1, 2 and 3
b} 2 and 3 only

fe} 1 only
{d} 1 and 2 only

100. Whe among the following is the

author of the autobiography entitled
Aamar Katha [1913]?

fa) Satyajit Ray

(b} Rassundari Devi

fci Ganesh Chandra Ghosh
{d] Binedini Dasi

101. Which one of the following statements

about the Companies Act, 2013 is not
correct?

f@) The Act regulates the corporate
sector to make it accountable.

B It prm.’ideu for Corporate Social

fc) | Bt jnqp;dfq&:ﬁun: opportunities for

ul lmiu-. Cardholders
fb) The MNon-Resident Indians are
entitled to vote in elections in India

fe) The Persons of Indian Origin have
been placed at par with the
Overseas Citizens of India

{d] The Persons of Indian Origin are
now entitied to lifelong visa to visit
India
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97. Wi ¥ ®fewm gm frefefm R § @
WA= wt T & T 7
1. e wewn sfufam, 19a3s
2. g T aafrm, 1047
3. e Fiftm wftwfm ool sfufm,
15949
4. Fraws fim sfufs, 1950

RERC AL AR ekt RS ]
fa) FEw 13wz

fb) Faa 2 ¥4

f 1303

fd 1, 23R4

98, 1857 % e § gl gfter fod @@

A fo e g2 @ wm = WA T g
fa) 1,233

jb) WEm 2 3 a3

fe) a1

{d) ¥ w2

100, ¥ & FA EN F47 (1913) HE s
1 = B

faj T T
(b) e
fc) T R
fe) firifeh o

-~ 101w wfafrm, 2013 & 9t 8 fofafe e
mﬂ“ﬁ’!mtﬁ,ﬂm“ﬁ;

& #9-7 o wh T R

() T wifEm s dem w
T i o s B e b

B ﬂmﬁﬁmmm

oo, firdl =fs = g 33 & fin 9 s

) T = w2

1. =@ frwrd m fig fafo T omnfe
i F g A g @

2, s WEN % fag st fE
=it ¥ gar 79 9 gfifim =0 ¥ fim

3. v fowrd, wwem @ 9w 6
s ¥ o g @

B-ABVE-O-JMO/1A

fb)  FfETH v, wrE § Patet @ om B
hemnt :

fe) vEE 9@ & =t w1 oumm & owadt
mﬁaﬁﬂsmmwt

fed) T g@ % =fE A aww w8 E fm
i fam & wmn §

[B.T.0.

rence .1t may wvary the original.
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103. Name the French revolutionary who 106. Which one of the following is mot a

wrote Declaration of the Rights of Woman recommendation of the Fourteenth
and Female Citizen. Finance Commission?
fa) Olympe de Gouges fa) Share of States in Central Divisible
{b) Nancy Ruhling Pool is increased from 32 per cent
£ to 42 per cent
fe} Maximilien Robespierre
Area under forest cover s an
Mary Wollstonecraft b} : A
&4 ° ne important variable in distribution
104. Which one of the following statements of States’ share among States
about Electoral Government in India is fc) Fiscal discipline is dropped as a
not correct? variable in distribution of States’
fa) The superintendence, direction and share among States
control of elections are vested in
the Election Commission of India. fd) Sector specific grant is recom-
mended as in the previous Finance
fb) There is one general electoral roll Commissions

Shaheb Osman Al Stadium is

y 'the World Health
nich'one of the following
of the ‘World No Tobacco

57
4. Bharat Sanchar Nigam Limited

Select the correct answer using the code fa) . %00 o

given below. fb) Stop illicit trade of tobacco

fa) 1, 2 and 3 products

fh) 2 u.nﬂ_ 3 only fe) Ban tobacco advertising, promotion

) 2 and 4 and sponsorship

fd} 3 and 4 {d} Tobacco-free youth
B-ABVB-0O-JMO/1A 40
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103. W Wl Fheh W o s fe 106, Frefaf # @ WA o, e f s

fewttos af% 3 mw wiw A g3 drw i ferwtion = 87
fertZr femeft| ke
fia) fown @ 4 o oW e
4 MERR 32 i & =391 42 vhww d o
(6] A wEfem
. . ) U F am A oo § Refe e @
e/ e TA-HrwSIT A E A e §
i) TR
" . " fe) W= & owm oW e O Refm e
104, wm & it wn (qm i) & fr ;T;;wi'"; T s & A o
# Frefirfam # @ F9-m 7% w27 .
') Bt w o, fm oww R (d) TR s ool de ()
A % Frafem smdm & fifim B fafine siger 4 fawfm £ &

(b mmmmtmwﬂ

107, =W WiRa T el wfem el s

A oy m g2 W wEm = e af fa) T W R T
fa} 1,233 (b) FETE TR F Ay wR
o) ¥ 2 3% 3 (c) warg % famrm, s m W w
fe) 2 3 4 * wfiey @
@ 34 (d) T g
B-ABVE-O-JMO/ 1A 41 ir v |BT O
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109. Government of which ong of the following
States has (in May 2015) decided to
withdraw the Armed Forces (Special
Powers] Act from the State?

fa) Tripura
B Assam

fc) Nagaland
{d) Arunachal Pradesh

110. Which of the following statements with
regard to New Development Bank
BRICS, formerly referred to as the
BRICS Development Bank, isfare
correct?

1. The Headgquarters of the Bank is
situated at Moscow, Russia.

2. K. V. Kamath is the first President
of the Banl.

Select the mrrnc; ﬁ-mwe:r uahﬂg:ﬂﬂfeude |

given below. 20

fal 1 only !

i) El}nl}r';:: —

@ Bothrandz

i) l;:iﬂlt:r.:i.:tl:lf.-.i:'..--
111. Weibo is a social 1.:MdLa pln'tl'ar.m

popularly used in

fa] South Korea

ecruitment.co.in

F

112. Who is the current Vice Chairperson of
NITI Aayog?

ja) Raghuram Rajan
{b} Arvind Panagariva
fe) Bibek Debroy
fd) V. K. Saraswat
113. Which one of the following is not

provided regular budgetary support by
the Ministry of Defence?

fa) Himalayan Mountaineering Institute,
Darjeeling

{b) Institute for Defence Studies and
ﬁ.nalyseu. New Delhi

el m Pmﬁ'wnal

IW‘ umhm Institution of India,

'n;. mmzma, ‘ndiand France agreed

tu ; lﬁ. ‘inter-governmental
mr in jtﬁpa:.tnl‘ which one of the
“ToHowing - ;il’tfnnns'-"

{a) Rafale Medium Multirole Combat
Aircraft

(B] Scorpene Submarines

fb) China
{c) Thailand fe Infantry Mobility Vehicles
{d] Japan {d) Precision Guided Munitions System
B-ABVE-O=JMO /1A
i'f; TLo o f maot 3 am Diras =l T BT B =t —~ Beferenre It ma aT the origins
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109. Frfefem 4 2 B = v A w3 112. NITI ¥/m % 3899 7w 99 37
(wé 2015 #) www wm (frdm whEal)

sfifam =1 70 7= @ w2 = fifn Rt () T T
fa) Frgm

b i el
{b) R

jo) Tirdw Y
fe) ATEE
(d) TR W (d) e Fe wroEm

110. 3 fgew®z ¥% BRICS ¥ ot 4, fd T

RS At 156 e 113. 1 Ew T0 Pefafan § @ o W

5 Bl A | Pt s s i 6 w47

1. hmwaﬁé‘ﬂ!ﬂil (e T e g, o

2, #nﬁﬂmﬂh R TR TR

Ay s — - %} 1 e e frvet gwm, 1§ g

B-ABVE-O-JMD/1A 43 [P.T.O.




wWwww.rrbrecruitment.co.in

115. Which one of the following statements 118. Which one of the following is not correct

is incorrect?

fa) India is the third largest importer of
the defence equipment.

i) India meets more than 50 per cent
of its requirement of the defence
equipment through imports.

fe} Defence budget for 2015-2016
accounts for less than 2 per cent of
the GDP.

- rd_j Certain  financial powers are
delegated to the Vice Chief nfﬁ;r_l:p:}'
Stafl for upitg,.aqumﬁdpt._ =

116. ‘Arihant’ is the name

il"f. Where was }

jaj an infan

fb) a ball

Summit (Shangri-La-

about the Defence Ressarch and
Development Crganization (DRDOJ?

fa) DRDO was formed in the year 1958

fb) It is a network of 10 laboratories
engaged in developing defence
technologies

e/ DRDO operates under the Ministry
of Defence

{d) Some of its major products include
development missiles, armaments,
light combat aircrafts, etc.

~119. Red Flag’ is the name of a joint exercise

between India and which one of the
following countries?

4/ 4which one of India's
countrics allowed a

arine to dock at one of it

Ma_y 20157 ports?

M- Beijing faj Bangladesh

fb) Bangkok fb) Sri Lanka

fc) Jakarta fe} Maldives

{d) Singapere fd) Pakistan
B-ABVB-0-JMO/ 1A
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115. Fr=fifias wu § 8 FF-m ok wem R

fa) WRA TE T W dEn @R =@

T B

b} WTE TE TEEOE ST 50 W #
wfte wEm H 9fi s T

e} 2015-2016 % fm 1@ 7= aDP &
samRAFA R j

fd) amm <% afw anf = W fel ek
# fom oo fadn sfiem et f
m #)

. ofrEn” fiea T 7

fa) %= w;.‘w (R e
Hiftra)

(b) Wi {ﬁlﬁﬂfﬁmﬂ}
fe) mm
d) mnﬁm:hum

(- wam) wel e mi-
ja) ifEm
fb) T
fe) I

fd) g

B-ABVB-O-JMO/f 1A

e Informaticon Provided here is

118. T4 ¥gwue i e @127 (DRDO) % At §

Frferfiorm # @ - o= vl ot 17
fa) DRDO ¥ 72A 7 1958 # g =

jb) e v draffE % feewm 4 @b
10 FarTTEnl W T e B

jc) DRDO T8 T8 ¥ 3dE = Y

(@) frem wioTw, T oA, W TS
A w1 sk T agu I §

119, T w0 wim on Feffm § @ R 0w

I % ff9 10 A9 wam = Am R

fa) A

=t wsl s
e |

: mﬂmuimi#t-imﬂwﬁhi
117, = 2015 # lﬂ‘? Eﬂ'ﬁl ‘gm ht'ﬂﬂﬂ‘l

4 T ® A e T
Lacuis 1o

fa) AR
fb) e
fe) TR

jd) TR
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